Rebid Problems After a Minor-
Suit Opening Bid

Telling the Best Lie



It IS Not Good to Lie to Partner

 Sometimes you are dealt a hand where a
little white lie might be your only option.

| will show some examples of such
situations and some options.

« Sometimes a little forethought might help
you avoid being put into a situation where
you feel the need to lie.

« Consider what your partner might bid,
before you choose an opening bid.



This Is Your Hand 1

442 Opener  Responder
¢ AK 27
#K9843
Options Best lie 1nt
;n; Best overall open 1nt.

29



This Is Your Hand 2

e K
Opener  Responder
vyK1094 1 & 1 &
¢AQ3 27
#K9843
Options Best lie 1nt
;n; Best overall open 1nt.

29



This 1s Your Hand 3

43 Opener  Responder
vK1094 P Lo
¢AQ ?7?
*2KQJ43
Options Best lie 1nt

1nt

2 &

29



This 1s Your Hand 4

s/ Opener  Responder
vQ94 1 % 1a
¢AQJ3 5
»K9843
Options Best lie
1nt Opener Responder
2 & 1e 1 &

2 ¢ 2 %



1¢...1nt

Responder has 6-10 no 4-card major suit...First
the easy ones.

Hand 1 Hand 2 Hand 3
«a0QJ6 aA1076 4J63
vKJ3 vKQ65 vQ54
¢Q876 ¢A876 ¢AKQ76
& KQ3 & 3 & 83

pass pass pass



le..1nt...2 &

Opener’s rebid is ambiguous.

Hand 4 Hand 5 Hand 6
406 46 o
vQJ86 vKQGB6 vQJ65
¢QJ76 ¢A8762 ¢AKQG®6
#®AK9?2 &#AJ53 &J9853
2 & 2 & 2 &

The best lie



le..1nt...2 &

Opener’s rebid is ambiguous.

Hand 7 Hand 8 Hand 9
&0 40 o
vAQS5 vYKG6 v65

4QJ762 +AB762 ¢AKQ652
#AK32 #AQJ53 &AJ853

2 & The 2 & 2 &
best lie



le..1nt...2 ¢

12 to 15 points with 6 diamonds.

Hand 10

o KJ
vyK65
¢K98762
&Q2

2 ¢

Hand 11

606
vyK962
¢AQJ962
&Q3

2 ¢

Hand 12
a2
vyAJ85
¢KQ652
& K85

2 ¢ The
best lie



1¢...1nt...2nt

18 or 19 Balanced hand. Just short of a 2nt
opening

Hand 13 Hand 14
caAQJ4 aK4?2
vKJ65 vYKQ?2
¢AKH9 ¢AQJ85
52 S K 3

2 nt

Invitational 2 nt

18-19



1¢..1nt...3 ¢

Could not open 1 nt, because unbalanced.

Hand 15
aA74

v5
¢AKQ972
K52

3¢
Invitational
16-19

Hand 16
aK42

vAlJ
¢AQJ1085
s K 3

3¢



1e...

Hand 17
aJ74

vQ
¢AKQJ72
& A52

3 nt

1nt... 3 nt

This is a strange bid...
You must have an
unbalanced hand with a
running sulit.



1e...

Hand 18
aKQJ3
vKJ3
¢AKQ72
& J

3 nt

1nt... 3 nt

This is a strange bid...
You must have an
unbalanced hand with a
running sulit.



